CITY OF

G RrRAND = IsL.AND

UTILITIES DEPARTMENT

Current Revision: April 24, 2023

Overhead Electrical

OVERHEAD

EO-1
EO-1A
EO-1B
EO-2
EO-2A
EO-2B
EO-3
EO-3A
EO-4
EO-5
EO0-6
EO-6A
EO-7
EO-7A
EO-8
EO-9
EO-10
EO-10A
EO-11
EO-12
EO-13
EO-14
EO-15
EO-16
EO-17
EO-18
EO0-19
EO-20
EO-21
EO-22
EO-23
EO-24

Standards

3 PHASE TANGENT STRUCTURE (TS)

3 PHASE TANGENT STRUCTURE (TS), T-2 CONDUCTOR

3 PHASE TANGENT STRUCTURE (TS), T-2 CONDUCTOR, FIBERGLASS CROSS-ARM
3 PHASE DEAD-END (DD)

3 PHASE JUNCTION STRUCTURE

3 PHASE DEAD-END (DD), T-2 CONDUCTOR

3 PHASE DOUBLE CIRCUIT (DC)

3 PHASE DOUBLE CIRCUIT (DC), T-2 CONDUCTOR

3 PHASE TRANSFORMER MOUNTING ARRANGEMENT (TM)

3 PHASE SWITCH STRUCTURE (PTS)

3 PHASE SWITCH RISER STRUCTURE (PTS,UG) 500 & 750 MCM POWER CABLE
3 PHASE SWITCH RISER STRUCTURE (PTS,UG) 750 & 750 MCM POWER CABLE DEAD END
3 PHASE SWITCH RISER STRUCTURE (PTS,UG) #2 OR 1/0 POWER CABLE

3 PHASE UNDERGROUND DISCONNECT (FUG)

1 PHASE STRUCTURE (1PS)

1 PHASE DEAD-END (1PDD)

1 PHASE TRANSFORMER MOUNTING ARRANGEMENT (1PS / 1PTM)

3 PHASE TANGENT STRUCTURE W/ 1 PHASE TRANSFORMER MOUNTING (TS / 1 PTM)
1 PHASE DISCONNECT RISER STRUCTURE (FUG)

ANCHOR ASSEMBLY (AA)

DISTRIBUTION POLE- WOOD

SERVICE & GUY POLE- WOOD

HOLE PATTERN FOR WOOD POLE WITH DDE, CTS, AND PTS

HOLE PATTERN FOR WOOD POLE WITH CAPACITORS

HOLE PATTERN FOR ONE PIECE 35' STEEL POLE

HOLE PATTERN FOR ONE PIECE 40' STEEL POLE

HOLE PATTERN FOR ONE PIECE 45' STEEL POLE

34.5KV / 13.8KV POLE DETAIL

LIGHTING CONTROL CENTER- TYPE "D"

LIGHTING / POWER CONTROL CENTER- TYPE "R"

SECONDARY STAND-OFF BRACKET

SECONDARY STAND-OFF BRACKET- METER PEDESTAL /—/




1/0 ACSR, 6/1 STATIC

5- 0"

15 K.V. INSULATOR
HENDRIX # HPI-15
W/ 5/8" PIN JOSLYN #J204Z ———_|

STATIC
PREFORMED ARMOR ROD #AR-0118 OR
PREFORMED WRAPLOCK #WTC-0112

POLE TOP JOSLYN #J740(E)

4-8"

2" SQUARE WASHER,
NUT, AND LOCK NUT

1/2" MACH. BOLT, ROUND
WASHER, NUT AND LOCK NU

POLE TO MEET ALL OF

THE CITY OF G.1.
UTILITIES DEPT. SPE

NOTE:

1. POLE SETTING - ALL POLES SHALL
BE TAMPED TO THE APPROVAL OF
THE INSPECTOR FOR THE CITY OF
GRAND ISLAND UTILITIES DEPT.

2 TWO PHASE CONDUCTORS SHALL
BE ON THE WEST OR NORTH SIDE
OF ALL TANGENT STRUCTURES.

3. STAPLE SPACING: TYPICAL 12"
SPACING- EXCEPT TOP 8' AND
BOTTOM 8' TO BE 6" SPACING.

10% OF POLE LENGTH + 2'-0" |

CONDUCTOR
PREFORMED ARMOR ROD
#AR-0118 OR PREFORMED
WRAPLOCK #WTC-0121

T

\>

C.

GROUND LINE\

\ 4 3/4" x 3 3/4" x 10'- 0" CROSS-ARM
HUGH BROTHERS #B-2391.1E

CROSS-ARM BRACE HUGH
BROTHERS, #2045-D-45-9-11

5/8" MACH. BOLT 2" SQUARE

WASHER, NUT, AND LOCK NUT

[ #4 COPPER GROUNDWIRE

\ USE #4 BI-METALLIC 40% GROUND
WIRE ON BOTTOM 8'-0" OR CHANCE
#C203-450 MOULDING & STRAPS

/— GROUNDED CLAMP

/—5/8" x 10' COPPERWELD

3-0" GROUND ROD JOSLINE #J8340

REVISED : 12/27/2011

NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE
USE OF A BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A
STANDARD QUALITY, PERFORMANCE, AND CHARACTERISTIC DESIRED,
AND IS NOT INTENDED TO LIMIT OR RESTRICT COMPETITION.

CITY OF

RAND &= [s1. AND
A~

DATE :

UTILITIES DEPARTMENT

DRAWN BY :
CHECKED BY :

4/12/96 3@ TANGENT | 5 o\
P.S.L. STRUCTURE [£5y
T.W.B. (TS)




REVISED : 4/19/23

CITY OF S—
G RAND ? IsLAND

UTILITIES DEPARTMENT

DATE :
DRAWN BY :
CHECKED BY :

4/19/23
K.J.M.
B.F.

3 @ TANGENT
STRUCTURE
(TS)

PLAN
EO -1
IMAGE




T-2 SPARROW STATIC

STATIC
PREFORMED WRAPLOCK #WTC-0116

° POLE TOP JOSLYN #J740(E)

4-8"

5. Q"

15 K.V. INSULATOR
HENDRIX # HPI-55-4 F-NECK
W/ SADDLE PIN J3322-2 —— |

CONDUCTOR
T-S PENGUIN PREFORMED
WRAPLOCK #WTC-0125

1/2" MACH. BOLT, ROUND
WASHER, NUT AND LOCK NUT

POLE TO MEET ALL OF
THE CITY OF G.1.
UTILITIES DEPT. SPEC.

GROUND LINE

NOTE:
1. POLE SETTING - ALL POLES SHALL

\ 4 3/4" x 3 3/4" x 10'- 0" CROSS-ARM
HUGH BROTHERS #B-2391.1E

CROSS-ARM BRACE HUGH

\

BROTHERS, #2045-D-45-9-11
5/8" MACH. BOLT 2" SQUARE
WASHER, NUT, AND LOCK NUT

GROUNDWIRE CLIP 2' -
6" MAX. SPACING

[ #4 COPPER GROUNDWIRE
D USE #4 BI-METALLIC 40% GROUND

WIRE ON BOTTOM 8'-0" OR CHANCE
#C203-450 MOULDING & STRAPS

/— GROUNDED CLAMP

5/8" x 10' COPPERWELD
/GROUND ROD JOSLIYN #J8340

3.0

BE TAMPED TO THE APPROVAL OF >
THE INSPECTOR FOR THE CITY OF &
GRAND ISLAND UTILITIES DEPT. £
'_
2. TWO PHASE CONDUCTORS SHALL g
BE ON THE WEST OR NORTH SIDE u
OF ALL TANGENT STRUCTURES. w
O
3. STAPLE SPACING: TYPICAL 12" &
SPACING- EXCEPT TOP 8' AND (©)
BOTTOM 8' TO BE 6" SPACING. g°
4. CROSS-ARM BOLTS TO BE 3/4"
FOR T-2 CONTRUCTION.
NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE
USE OF A BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A
STANDARD QUALITY, PERFORMANCE, AND CHARACTERISTIC DESIRED,

REVISED : 12/27/2011

AND IS NOT INTENDED TO LIMIT OR RESTRICT COMPETITION.

. = DATE : 4/12/96 | 3 @ TANGENT
;ﬁﬁsﬁﬁzﬁg‘f DRAWNBY: PSL |STRUCTURE (TS) E(I;L-/ﬁl\/lx
CHECKEDBY: TW.B. |T-2CONDUCTOR




REVISED : 4/19/23

CITY OF S—
G RAND ? IsLAND

UTILITIES DEPARTMENT

DATE :
DRAWN BY :
CHECKED BY :

4/19/23
K.J.M.
B.F.

3 @ TANGENT
STRUCTURE (TS)
T-2 CONDUCTOR

PLAN
EO -1A
IMAGE




15 K.V. INSULATOR
HENDRIX # HPI-55-4 F-NECK

W/ SADDLE PIN J3322-2 —— |

—=

T-2 SPARROW STATIC

5. Q"

POLE TO MEET ALL OF

THE CITY OF G.1.

UTILITIES DEPT. SPEC.

NOTE:

1. POLE SETTING - ALL POLES SHALL
BE TAMPED TO THE APPROVAL OF
THE INSPECTOR FOR THE CITY OF
GRAND ISLAND UTILITIES DEPT.

GROUND LINE\

STATIC
PREFORMED WRAPLOCK #WTC-0116

4-8"

POLE TOP JOSLYN #J740(E)

CONDUCTOR
T-S PENGUIN PREFORMED
WRAPLOCK #WTC-0125

\>

I

\

HD FIBERGLASS CROSS-ARM

4 3/4" x 3 3/4" x 10'- 0" CROSS-ARM
WESCO- #PW10ST005

OR

PUPI22- FIBERGLASS CROSS-ARM
41/2X31/2X10-0"

T22-120-213

[ #4 COPPER GROUNDWIRE

D USE #4 BI-METALLIC 40% GROUND

WIRE ON BOTTOM 8'-0" OR CHANCE
#C203-450 MOULDING & STRAPS

/— GROUNDED CLAMP

/—5/8" x 10' COPPERWELD

=
&
:
T
2. TWO PHASE CONDUCTORS SHALL g 3-0" GROUND ROD JOSLIYN #J8340
BE ON THE WEST OR NORTH SIDE u
OF ALL TANGENT STRUCTURES. w
o
3. STAPLE SPACING: TYPICAL 12" &
SPACING- EXCEPT TOP 8' AND e}
BOTTOM 8' TO BE 6" SPACING. §
4. NO SADDLE PIN REQUIRED FOR
PUPI FIBERGLASS CROSS ARMS.
REVISED : 12/27/2011
o g DATE : 12/6/11 | 3 @ TANGENT
RAND &8 [s1 AND
RANDGQUSLANG DRAWNBY:  KJM. [FIBERGLASS ARM |- L
CHECKEDBY: T.W.B. | T-2 CONDUCTOR




REVISED : 4/19/23

= DATE : 4119/23 | 3 @ TANGENT | PLAN
GEﬁ;ﬁﬁ;ﬁ;ﬁ DRAWNBY:  KJM. |FIBERGLASS ARM|EO - 1B
CHECKEDBY: B.F. | T-2 CONDUCTOR |IMAGE




1/0 ACSR, 6/1 STATIC

POLE BAND W/ LAGS ON ANCHOR SIDE OF BAND
) ) 9/ CONNECTING LINK AS REQUIRED
\ © .,
—ena] 12 FIBERGLASS GUY
INSULATOR ON STATIC
\ PREFORMED WRAPLOCK FOR 3/8", GDE-1107
o
- 15 K.V. INSULATOR HENDRIX # HPI-15
WITH 5/8" PIN JOSLINE #J350
CONDUCTOR 31/2"x 7 1/2" x 10"- 0" CROSS-ARM HUGHES BROTHERS
BRACELESS D/E ASSEMBLY #3376-C5A-7.5 INSTALL
1 WITH 3/4' BOLTS AND 4" CURVED WASHERS
N 54" FIBERGLASS GUY INSULATOR ON PHASES
\ 3/8" SM STEEL GUY WIRE
PREFORMED 7/16" EHS STEEL GUY WIRE
WRAPLOCK GUY MARKERS
FOR 7/16", 45°
GDE-1108 PREFORMED WRAPLOCK
FOR 3/8", GDE-1107
PREFORMED WRAPLOCK . GROUND LINE
FOR 7/16", GDE-1108 :
—
10" SCREW ANCHOR TRIPLE HELIX
PN JOSLYN J-23381ACA 5' EXTENSION
/ J23378 - 5' GUY ANCHOR J23371
15 KV DEADEND
BELL INSULATOR
MPS DS-15M
%WC b
B ——
NOTE:
ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE
USE OF A BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A
STANDARD QUALITY, PERFORMANCE, AND CHARACTERISTIC DESIRED,
AND IS NOT INTENDED TO LIMIT OR RESTRICT COMPETITION.
REVISED : 12/27/2011
D =9 ISLAND DATE : 4/12/96 3 @ DEAD-END PLAN
=
Aot DRAWN BY : P.S.L.
UTILITIES DEPARTMENT STRUCTURE EO-2

CHECKED BY : T.W.B. (DE)




REVISED : 4/14/2023

CITY OF S—
G RAND ? Ist.AND

UTILITIES DEPARTMENT

DATE :
DRAWN BY :
CHECKED BY :

4/14/23
K.J.M.
B.F.

3 @ DEAD-END
STRUCTURE
(DE)

PLAN
EO -2
IMAGE




1/

0 ACSR, 6/1 STATIC

3

/—12' FIBERGLASS GUY INSULATOR ON STATIC

POLE BAND W/ LAGS ON ANCHOR SIDE OF BAND

/—3 1/2" x 7 1/2" x 10'- 0" CROSS-ARM

HUGH BROTHERS BRACELESS D/E ASSEMBLY
#3376-C5A-7.5 INSTALL WITH 3/4' BOLTS AND
4" CURVED WASHERS

| —54" FIBERGLASS GUY INSULATOR ON PHASES

o
& o | o
=
|
|
|
%
15 K.V. INSULATOR —_| [
HENDRIX # HPI-15 WITH ™~ |l 2-3
5/8" PIN JOSLINE #J350 1 5 o} q e F o] o]
L= @ T

2" SQUARE WASHER, J

NUT, AND LOCK NUT

31/2"x71/2"x 10'- 0" CROSS-ARM
HUGH BROTHERS BRACELESS D/E ASSEMBLY #3376-C5A-7.5
INSTALL WITH 3/4' BOLTS AND 4" CURVED WASHERS

REVISED : 12/27/2011

NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE
USE OF A BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A
STANDARD QUALITY, PERFORMANCE, AND CHARACTERISTIC DESIRED,
AND IS NOT INTENDED TO LIMIT OR RESTRICT COMPETITION.

15 K.V. INSULATOR HENDRIX #
HPI-15 WITH 5/8" PIN JOSLINE #J350

STANDARD JUMPER CONNECTION
NORTH TO WEST
SOUTH TO EAST
CENTER TO CENTER

CITY OF —

RAND % IsLAND
UTILITIES DEPARTMENT

DATE :
DRAWN BY :
CHECKED BY :

4’;%"5 3 @ JUNCTION | PLAN
iy STRUCTURE [EO - 2A




REVISED : 12/27/2011

. = DATE - 4/12/96
GRranD@@IsLAND DRAWNBY:  P.SL.

UTILITIES DEPARTMENT CHECKED BY : TVVB

3 @ JUNCTION | PLAN
STRUCTURE [EO - 2A




/—1/0 ACSR, 6/1 STATIC

0

3"
N
T

6"

5. Q"

15 KV DEADENDJ
BELL INSULATOR-
SALISBURY 9501

=

54" FIBERGLASS GUY -
INSULATOR ON PHASES

PREFORMED WRAPLOCK
FOR 7/16", GDE-1108

7/16" EHS STEEL GUY WIR

REVISED: 12/27/2011

POLE BAND W/ LAGS ON ANCHOR SIDE OF BAND

12' FIBERGLASS GUY INSULATOR ON STATIC

PREFORMED WRAPLOCK FOR 3/8", GDE-1107

31/2"x71/2"x 10'- 0" CROSS-ARM

HUGH BROTHERS BRACELESS D/E ASSEMBLY
#3376-C5A-7.5 INSTALL WITH 3/4' BOLTS AND
4" CURVED WASHERS

54" or 12' FIBERGLASS GUY
INSULATOR ON PHASES

PREFORMED WRAPLOCK FOR 3/8", GDE-1107

3/8" SM STEEL GUY WIRE

7/16" EHS STEEL GUY WIRE
GUY MARKERS

PREFORMED WRAPLOCK
FOR 3/8", GDE-1107

45°

\GROUND LINE

PREFORMED
WRAPLOCK FOR
7/16", GDE-1108

PREFORMED
WRAPLOCK FOR
7/16", GDE-1108

10" SCREW ANCHOR TRIPLE HELIX
JOSLINE J-23381ACA 5' EXTENSION
J23378 - 5' GUY ANCHOR J23371

NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE
USE OF A BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A
STANDARD QUALITY, PERFORMANCE, AND CHARACTERISTIC DESIRED,
AND IS NOT INTENDED TO LIMIT OR RESTRICT COMPETITION.

CITY OF —

RAND % IsLAND
UTILITIES DEPARTMENT

DATE : 4/12/96 |3 @ DEAD-END (DE) PLAN
DRAWN BY : P.S.L. STRUCTURE EO - 2B
CHECKED BY: T.W.B.| T-2 CONDUCTOR




REVISED: 4/19/23

CITY OF S—
G RAND ? Ist.AND

UTILITIES DEPARTMENT

DATE :
DRAWN BY :
CHECKED BY :

4/19/23
K.J.M.
B.F.

3 @ DEAD-END (DE)
STRUCTURE
T-2 CONDUCTOR

PLAN
EO-2B
IMAGE




REVISED: 112/27/2011

1/0 ACSR, 6/1 STATIC

N

STATIC
PREFORMED ARMOR ROD #AR-0118 OR
PREFORMED WRAPLOCK #WTC-0112

POLE TOP JOSLYN #J740(E)

CONDUCTOR
PREFORMED ARMOR ROD
#AR-0118 OR PREFORMED
WRAPLOCK #WTC-0121

0
—0
] o
) _\
o 3" 1 , , 4-8
15 K.V. INSULATOR AN |
HENDRIX # HPI-15 WITH 5/8" '
PIN JOSLYN #J350——_| a |
1 — o =
o
© vd
#4 COPPER/
GROUNDWIRE

2" SQUARE WASHER,
NUT, AND LOCK NUT

1/2" MACH. BOLT, ROUND
WASHER, NUT AND LOCK NUT

NOTE:

1. POLE SETTING - ALL POLES SHALL
BE TAMPED TO THE APPROVAL OF
THE INSPECTOR FOR THE CITY OF
GRAND ISLAND UTILITIES DEPT.

2. TWO PHASE CONDUCTORS SHALL
BE ON THE WEST OR NORTH SIDE
OF ALL TANGENT STRUCTURES.

3. STAPLE SPACING: TYPICAL 12" SPACING- EXCEPT
TOP 8 AND BOTTOM 8' TO BE 6" SPACING.

NOTE:

el

\ 4 3/4" x 3 3/4" x 10'- 0" CROSS-ARM
HUGH BROTHERS #B-2391.1E

CROSS-ARM BRACE HUGH
BROTHERS, #2045-D-45-9-11

5/8" MACH. BOLT 2" SQUARE
WASHER, NUT, AND LOCK NUT

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE
USE OF A BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A

STANDARD QUALITY, PERFORMANCE, AND CHARACTERISTIC DESIRED,

AND IS NOT INTENDED TO LIMIT OR RESTRICT COMPETITION.

anvor = DATE :
=1
T — DRAWN BY :
CHECKED BY :

3/2/2005 | 3@ DOUBLE
K.J.M. CIRCUIT  |E5s
T.W.B. (DC)




REVISED: 4/19/23

CITY OF S—
G RAND ? IsLAND

UTILITIES DEPARTMENT

DATE :
DRAWN BY :
CHECKED BY :

4/19/23
K.J.M.
B.F.

3 @ DOUBLE
CIRCUIT
(DC)

PLAN
EO-3
IMAGE




T-2 SPARROW STATIC

STATIC
PREFORMED WRAPLOCK #WTF-0216

5- 0"

15 K.V. INSULATOR
HENDRIX # HPI-55-4 F-NECK

Es
o | .
a8
31" 17\

4-8"

POLE TOP JOSLYN #J740(E)

CONDUCTOR
T-2 PENGUIN PREFORMED
WRAPLOCK #WTC-0225

11" |

|

WITH SADDLE PIN #J3322-2—_ | % |
—LC ' o]

6- 0"

#4 cOPPER—"" |

GROUNDWIRE

= =

=

2" SQUARE WASHER,
NUT, AND LOCK NUT

1/2" MACH. BOLT, ROUND
WASHER, NUT AND LOCK NUT

NOTE:

1. POLE SETTING - ALL POLES SHALL
BE TAMPED TO THE APPROVAL OF
THE INSPECTOR FOR THE CITY OF
GRAND ISLAND UTILITIES DEPT.

2. TWO PHASE CONDUCTORS SHALL
BE ON THE WEST OR NORTH SIDE
OF ALL TANGENT STRUCTURES.

3. STAPLE SPACING: TYPICAL 12" SPACING-

o]

EXCEPT TOP 14' AND BOTTOM 8' TO BE 6" SPACING

ON DOUBLE CIRCUIT STRUCTURES.

4. CROSS ARM BOLTS TO BE 3/4" FOR T-2
CONSTRUCTION.

REVISED: 12/27/2011

NOTE:

\ 4 3/4" x 3 3/4" x 10'- 0" CROSS-ARM
HUGHES BROTHERS #B-2391.1E

CROSS-ARM BRACE HUGHES
BROTHERS, #2045-D-45-9-11

5/8" MACH. BOLT 2" SQUARE
WASHER, NUT, AND LOCK NUT

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE
USE OF A BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A
STANDARD QUALITY, PERFORMANCE, AND CHARACTERISTIC DESIRED,
AND IS NOT INTENDED TO LIMIT OR RESTRICT COMPETITION.

CITY OF

RAND % IstL AND
UTILITIES DEPARTMENT

DATE :
DRAWN BY :
CHECKED BY :

3/2/2005
K.J.M.
T.W.B.

3 @ DOUBLE
CIRCUIT (DC)
T-2 CONDUCTOR

PLAN
EO - 3A




REVISED: 4/19/23

CITY OF S—
G RAND ? IsLAND

UTILITIES DEPARTMENT

DATE :
DRAWN BY :
CHECKED BY :

4/19/23
K.J.M.
T.W.B.

3 @ DOUBLE
CIRCUIT (DC)
T-2 CONDUCTOR

PLAN
EO-3A
IMAGE




NOTE:

1/0 ACSR, 6/1 STATIC

[WTF-OM 6 INSULATOR

STATIC
PREFORMED ARMOR ROD
#AR-0118 OR PREFORMED

=

WRAPLOCK #WTC-0112
(;_{
== ;‘)
E |
@ f==\f
f ! POLE TOP JOSLYN #J740(E)
|
5| #4 COPPER GROUNDWIRE\:
o i
BAIL CLAMP #SC30 | 336.4 ACSR, 18/1
HOT LINE CLAMP #81530Af7 | / CONDUCTOR
|
[ 10'-0" CROSS-ARM
) |
5 | | —10K.\V. ARRESTOR
@ 8'-0" FIBERGLASS
CROSS-ARM (PUPI) I
I ==p
| COVERED COPPER
! ///rlmmumpmﬂmﬂmn
o POLYMER 15 K.V. '
S | BUSHING COVERS
¥|  FUSEDCUT-OUT I~ e (WILDLIFE PROTECTION)
|
l
— TRANSFORMER
| BANK
L ==
(<) |
- |
~— Ir/
3/4" MACH. BOLT, ! 30 TRANFORMERS TO BE
4" GURVED WASHER & NUT | INSTALLED WITH JOSLYNE
I #6866 OR #6865 TRANS
| MOUNTING BRACKET
|
|
|
|
|
|
l
L=

1. GROUNDING CLAMP
2.5/8" X 10' GROUNDING ROD
3. SEE STANDARD PLAN EO-01 GROUNDING LAYOUT

REVISED: 3/27/2023

NOTE:
ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE
USE OF A BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A
STANDARD QUALITY, PERFORMANCE, AND CHARACTERISTIC DESIRED,

AND IS NOT INTENDED TO LIMIT OR RESTRICT COMPETITION.

= DATE 3/24/23
Gzﬁzgiﬁ;’i DRAWNBY :  K.J.M.
CHECKED BY: B.F.

3% XFMR MOUNTING
ON 3@ STRUCTURE
(TM/TS)

PLAN
EO -4




CITY OF S—
G RAND i Ist.AND

UTILITIES DEPARTMENT

DATE :
DRAWN BY :
CHECKED BY :

3/24/23
K.J.M.
B.F.

3% XFMR MOUNTING
ON 3@ STRUCTURE
(TM/TS)

PLAN
EO -4
IMAGE




WTF-0216 INSULATOR

STATIC
1/0 ACSR, 6/1 STATIC PREFORMED ARMOR ROD
#AR-0118 OR PREFORMED

WRAPLOCK #WTC-0112

[so]

50"

250 MCM COPPER OUT OF —
SWITCH CONNECTION

REVISED: 12/27/2011

¥ POLE TOP JOSLYN #J740(E)
S~ #4 COPPER GROUNDWIRE

3/4" MACH. BOLT, 4" CURVED
WASHER, NUT AND LOCK NUT

|
o [0 N

SIDE BREAK GANG SWITCH
WITH STEEL BASE
S.&C. #138412R1-EA2

POLE BAND

BAIL CLAMP #SC30 HOT
LINE CLAP #S1530AGP

2-15 K.V. INSULATORS
SALISBURY #9501

10 K.V. ARRESTOR OHIO
BRASS #217-259-72-24

SN
N =
10 K.V. =)
ARRESTOR %

N

S 6
2
— it KO I i
o— o) 5
o—H o) &

NOTE:

1. USE CAD-WELD FOR GROUND ROD CONNECTION.
2. 5/8" X 10' GROUNDING ROD.

3. SEE STANDARD PLAN EO-01 GROUNDING LAYOUT.

NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE
USE OF A BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A
STANDARD QUALITY, PERFORMANCE, AND CHARACTERISTIC DESIRED,
AND IS NOT INTENDED TO LIMIT OR RESTRICT COMPETITION.

CITY OF —

G RAND % IsLAND
UTILITIES DEPARTMENT

DATE : 4/12/96 30 SWITCH
DRAWN BY : P.S.L. STRUCTURE
CHECKED BY: T.W.B. (P.T.S.)

PLAN
EO-5




1/0 ACSR, 6/1 STATIC\

S

50"

——|8" l—o

WRAPLOCK #WTC-0112

STATIC

PREFORMED ARMOR ROD

#AR-0118 OR PREFORMED
(52}

POLE TOP JOSLYN #J740(E)

NOTES:
1. AMIN. OF 10" PHASE TO GROUND AND 2'- 0"
PHASE TO PHASE WILL BE MAINTAINED.

2. GROUND ALL DEVICES THROUGH GROUNDING
BRACKET ONLY, NOT TO FRAME.

3"
32-1/4"

1o

AND LOCK NUT

30"

5/8" MACH. BOLT, 2*
SQUARE WASHER NUT

14"

5

4" CURVED

6" LOOP IN
GROUNDWI

500 MCM 5" COND. = 5'
750 MCM 6" COND.

4
3/4" MACH. BOLT,/ (|

WASHER, NUT
AND LOCK NUT

RE\‘\<~

1om

#1/0 COPPER — |
GROUNDWIRE e

NOTES:

\3 PHASE CONDUIT

250 MCM COPPER JUMPER WIRE

10 K.V. ARRESTOR

CLAMP STYLE INSULATOR

MOUNTING BRACKET- PUPI CROSS ARM
W/ ARRESTORS AND CLAMP INSULATORS

SIDE BREAK GANG SWITCH
WITH STEEL BASE S.&C.
#137612R6-ES10

FIBERGLASS BRACES (SIZE AS NEEDED)

500 MCM POWER CABLE

SEE STD PLAN EU-1 FOR
CONDUIT STAND-OFF DETAILS

1. USE CAD-WELD FOR GROUND ROD CONNECTION.
2.2-10' GROUNDING ROD SECTIONAL #K9160 GROUNDING ROD THREADED COUPLING #CR58.

REVISED: 3/24/2023

NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE USE OF A
BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A STANDARD QUALITY,
PERFORMANCE, AND CHARACTERISTIC DESIRED, AND IS NOT INTENDED TO
LIMIT OR RESTRICT COMPETITION.

CITY OF R

G RrRAND & IsL. AND
UTILITIES DEPARTMENT

DATE :
DRAWN BY :

CHECKED BY : B.F. (P.T.S./JUG.)

3@ SWITCH
3/24/23 RISER STRUCTURE PLAN

K.J.M. | 5001750 McM POWER CABLE | EO - 6




CITY OF R

G RrRAND & IsL. AND
UTILITIES DEPARTMENT

DATE : 3/24/23
DRAWN BY : K.J.M.
CHECKED BY : B.F.

3@ SWITCH
RISER STRUCTURE
500/750 MCM POWER CABLE
(P.T.S/UG.)

PLAN
EO -6
IMAGE




POLE BAND W/ LAGS ON ANCHOR SIDE OF BAND

CONNECTING LINK AS REQUIRED

12' FIBERGLASS FISH ‘
INSULATOR ON STATIC —] o

5. 0"

PREFORMED WRAPLOCK

FOR 3/8", GDE-1107 x

5' FIBERGLASS FISH
INSULATOR ON STATIC —— &

3-0"
/1
I
I

PREFORMED WRAPLOCK

FOR 7/16", GDE-1108 //

5/8" MACH. BOLT, 2"

S| SQUARE WASHER NUT
@ | AND LOCK NUT
==
<
1=
1 3/4"MACH. BOLT iy
©|© 4" GURVED ©
ala WASHER, NUT L
Z|= AND LOCK NUT
to}ls]
[&)[&]
ol
313
6" LOOP IN
S5
p P GROUNDWIRE\‘\G
ol
|~ =
o
"
#1/0 COPPER — |
GROUNDWIRE <t
=
NOTES:

1/0 ACSR, 6/1 STATIC

NOTES:
1. AMIN. OF 10" PHASE TO GROUND AND 2'- 0"
PHASE TO PHASE WILL BE MAINTAINED.

2. GROUND ALL DEVICES THROUGH GROUNDING
BRACKET ONLY, NOT TO FRAME.

3 PHASE CONDUCTOR
250 MCM COPPER JUMPER WIRE

10 K.V. ARRESTOR
CLAMP STYLE INSULATOR

MOUNTING BRACKET- PUPI CROSS ARM
W/ ARRESTORS AND CLAMP INSULATORS

SIDE BREAK GANG SWITCH
WITH STEEL BASE S.&C.
#137612R6-ES10

FIBERGLASS BRACES (SIZE AS NEEDED)

POWER CABLE

SEE STD PLAN EU-1 FOR
CONDUIT STAND-OFF DETAILS

1. USE CAD-WELD FOR GROUND ROD CONNECTION.
2.2-10' GROUNDING ROD SECTIONAL #K9160 GROUNDING ROD THREADED COUPLING #CR58.

NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE USE OF A
BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A STANDARD QUALITY,

REVISED: 3/27/2023

PERFORMANCE, AND CHARACTERISTIC DESIRED, AND IS NOT INTENDED TO

LIMIT OR RESTRICT COMPETITION.

CITY OF

G RrRAND & IsL. AND
UTILITIES DEPARTMENT

DATE :
DRAWN BY :

CHECKED BY : B.F.

3@ SWITCH
3/24/23 RISER STRUCTURE PLAN
K.J.M.{ 5001750 MCM POWER CABLE | EO - BA
DEAD END (P.T.S./UG.)




CITY OF R

G RrRAND & IsL. AND
UTILITIES DEPARTMENT

DATE : 3/24/23
DRAWN BY : K.J.M.
CHECKED BY : B.F.

3@ SWITCH
RISER STRUCTURE
500/750 MCM POWER CABLE
DEAD END (P.T.S./UG.)

PLAN
EO - 6A
IMAGE




REVISED: 3/27/23

1/0 ACSR, 6/1 STATIC

y

-

STATIC

PREFORMED ARMOR ROD
#AR-0118 OR PREFORMED
WRAPLOCK #WTC-0112

T
=
© L1 T
f | POLE TOP JOSLYN #J740(E)
|
| #2 OR #1/0 COPPER
. L~ crounowire
- 7 NOTES:
| 1. AMIN. OF 10" PHASE TO GROUND AND 2'- 0"
| PHASE TO PHASE WILL BE MAINTAINED.
|
I 2. GROUND ALL DEVICES THROUGH GROUNDING
| BRACKET ONLY, NOT TO FRAME.
I \
! 3 PHASE CONDUCTOR
5 |
* | SIDE BREAK GANG SWITCH
| WITH STEEL BASE
|
L
* i
{4 |
3/4" MACH. BOLT, 4" N
& | CURVED WASHER, |
LAG |
. —
& }
- L 80" FIBERGLASS
5/8" MACH. BOLT, | CROSS-ARM (PUPI)
2" SQUARE :
5 | WASHER NUT
< | AND Lock NUT POLYMER 15 K.V. FUSED CUT-OUT
Wi
- |
; 4/0 OR 1/0 POWER CABLE
6" LOOP IN / - 1
GROUNDWIRE i
e |
R1E 4 SEE STD PLAN EU-1 FOR
CONDUIT STAND-OFF DETAILS
NOTES:

1. USE CAD-WELD FOR GROUND ROD CONNECTION.

2. 2-10' GROUNDING ROD SECTIONAL #K9160
GROUNDING ROD THREADED COUPLING #CR58.

NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE USE OF A

BRAND NAME IS FOR THE P
PERFORMANCE, AND CHAR

URPOSE OF DESCRIBING A STANDARD QUALITY,
ACTERISTIC DESIRED, AND IS NOT INTENDED TO

LIMIT OR RESTRICT COMPETITION.

v e DATE : 3/27/23 30 U.G. SWITCH
RANDfIfLAND DRAWN BY :  K.J.M.|4/0 OR 1/0 POWER CABLE Eé’aj'\;
UTILITIES - DEPARTMENT CHECKED BY : B.F. (P.T.S.,U.G.)




CITY OF

G RAND ? Ist.AND

UTILITIES DEPARTMENT

DATE : 3/27/23
DRAWN BY : K.J.M.
CHECKED BY : B.F.

30 U.G. SWITCH
4/0 OR 1/0 POWER CABLE
(P.T.S.,U.G.)

PLAN
EOQ -7
IMAGE




1/0 ACSR, 6/1 STATIC\

STATIC

PREFORMED ARMOR ROD
#AR-0118 OR PREFORMED
WRAPLOCK #WTC-0112

POLE TOP JOSLYN #J740(E)

—

=3

D

50"

i
©
f NOTES:

1. AMIN. OF 10" PHASE TO GROUND AND 2- 0"
PHASE TO PHASE WILL BE MAINTAINED.

2. GROUND ALL DEVICES THROUGH GROUNDING
BRACKET ONLY, NOT TO FRAME.

3. Q"

LAG

\ 3 PHASE CONDUCTOR

10 K.V. ARRESTER

5/8" MACH. BOLT,
2" SQUARE
WASHER NUT
AND LOCK NUT

4-0"

8'-0" FIBERGLASS

6" LOOP IN
GROUNDWIRE

NOTES:

CROSS-ARM (PUPI)

POLYMER15 K.V. FUSED CUT-OUT

POWER CABLE

SEE STD PLAN EU-1 FOR
CONDUIT STAND-OFF DETAILS

1. USE CAD-WELD FOR GROUND ROD CONNECTION.
2.2-10' GROUNDING ROD SECTIONAL #K9160 GROUNDING ROD THREADED COUPLING #CR58.

REVISED: 3/30/23

NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE USE OF A
BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A STANDARD QUALITY,
PERFORMANCE, AND CHARACTERISTIC DESIRED, AND IS NOT INTENDED TO
LIMIT OR RESTRICT COMPETITION.

CITY OF R

G RrRAND & IsL. AND
UTILITIES DEPARTMENT

DATE: . 32423 1 sgswitcH | pLAN
DRAWNBY:  KJIM. ||| 5 DisCONNECT |£0- A
CHECKEDBY: BF. [UG




CITY OF r—

G RrRAND & IsL. AND
UTILITIES DEPARTMENT

DATE :
DRAWN BY :
CHECKED BY :

3/27/23
K.J.M.
B.F.

3@ SWITCH
U.G. DISCONNECT

PLAN
EO-7A
IMAGE




USE #4 BI-METALLIC 40% GROUND
WIRE ON BOTTOM 8'-0" OR CHANCE
#C203-450 MOULDING & STRAPS

NOTE:

1. POLE SETTING - ALL POLES SHALL
BE TAMPED TO THE APPROVAL OF
THE INSPECTOR FOR THE CITY OF
GRAND ISLAND UTILITIES DEPT.

2. STAPLE SPACING: TYPICAL 12"
SPACING- EXCEPT TOP 8" AND
BOTTOM 8' TO BE 6" SPACING.

REVISED: 12/27/2011

STATIC
PREFORMED ARMOR ROD #AR-0118 OR
PREFORMED WRAPLOCK #WTC-0112

5/8" x 10' COPPER
CLAD GROUND ROD

1/0 ACSR, 6/1 STATIC \

b

)

/

40"

#4 COPPER /
GROUNDWIRE

i}

\

10% OF POLE LENGTH + 2'-0" ‘

GROUNDED CLAMP.

1\

12" MIN.

S~ POLE TOP JOSLYN #J740(E)

/ CONDUCTOR

SINGLE STANDOFF BRACKET
CONTINENTAL ELECTRIC CO.
MOUNTED ON SIDE OF POLE
GPB-5568M-18V

POLE TO MEET ALL OF
THE CITY OF G.1.
UTILITIES DEPT. SPEC.

GROUND LINE

NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE USE OF A
BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A STANDARD QUALITY,
PERFORMANCE, AND CHARACTERISTIC DESIRED, AND IS NOT INTENDED TO

LIMIT OR RESTRICT COMPETITION.

CITY OF

RAND 2= [s1. AND
T

UTILITIES DEPARTMENT

DATE : 5/10/96
DRAWN BY : P.S.L.
CHECKED BY : T.W.B.

1 STRUCTURE
(1PS)

PLAN
EO- 8




REVISED: 4/14/23

CITY OF

G RAND ? IsLAND

UTILITIES DEPARTMENT

DATE :
DRAWN BY :
CHECKED BY :

4/14/23
K.J.M.
B.F.

1 STRUCTURE
(1PS)

PLAN
EO-8
IMAGE




1/0 ACSR, 6/1 STATIC\

3

EYE BOLT 5/8" x 12"
4" CURVED WASHER

2"

4

BAIL CLAMP #SC30 HOT LINE ——_|

CLAMP #S1530AGP
£}
10 K.V. ARRESTOR &
OHIO BRASS #217-259-72-74 ——
JUMPER COVERS
y—

(WILDLIFE PROTECTION
%
BUSHING COVERS N

(WILDLIFE PROTECTION)

TRANSFORMER

#4 COPPER
GROUNDWIRE

NOTE:

1. POLE SETTING - ALL POLES SHALL
BE TAMPED TO THE APPROVAL OF
THE INSPECTOR FOR THE CITY OF
GRAND ISLAND UTILITIES DEPT.

2. GROUNDING CLAMP
3. 5/8" X 10' GROUNDING ROD.

4. STAPLE SPACING: TYPICAL 12" SPACING- EXCEPT
TOP 8 AND BOTTOM 8' TO BE 6" SPACING.

NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE USE OF A
BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A STANDARD QUALITY,
PERFORMANCE, AND CHARACTERISTIC DESIRED, AND IS NOT INTENDED TO
LIMIT OR RESTRICT COMPETITION.

REVISED: 12/27/2011

JOSLINE #J9412

K—8‘.

POLE BAND AND W/ LAGS ON ANCHOR
SIDE OF BAND

54" FIBERGLASS GUY INSULATOR
/7/1 6" GUY WIRE

[ A\

EYE BOLT 5/8" x 12"
4" CURVED WASHER
JOSLINE #J9412

POLYMER 15 K.V. FUSED CUT-OUT

7

CUTOUT ARRESTOR BRACKET
MCLEAN FIBERGLASS STANDOFF
BRACKET # G1MA0112AD

ON 50 KVA AND BELOW, USE 5/8" BOLT
OTHERWISE USE 3/4" MACH. BOLT,
4" CURVED WASHER & NUT.

/Y

10 TRANSFORMER TO BE
BOLTED DIRECTLY TO POLE.

G RAND & ISLAND DATE :
=

UTILITIES DEPARTMENT

DRAWN BY :
CHECKED BY :

SQ g’ ?_6 1 & DEAD-END | PLAN
Pk (1PDD) EO-9




REVISED: 12/27/2011

CITY OF —

G RrRAND & Ist. AND
&

UTILITIES DEPARTMENT

DATE :
DRAWN BY :
CHECKED BY :

4/14/23
K.J.M.
B.F.

1 @ DEAD-END
(1PDD)

PLAN
EO-9
IMAGE




1/0 ACSR, 6/1 STATIC

STATIC
PREFORMED ARMOR ROD #AR-0118 OR
PREFORMED WRAPLOCK #WTC-0112

g

POLE TOP
JOSLYN #J740(E)

|
|
5 I CONDUCTOR
BAIL CLAMP #SC30 = | PREFORMED ARMOR ROD #AR-0118 OR
HOT LINE CLAMP S1530AGP — ! PREFORMED WRAPLOCK #WTC-0112
'\ |
H
[
i Iy
® — T SINGLE STANDOFF BRACKET
- PN MOUNTED ON SIDE OF POLE
10 K.V. ARRESTOR e CHANGE- 15BM18V1
OHIO BRASS #217259-7224 . i POLYMER 15 K.V. FUSED CUT-OUT
<x|> // S —
: A
JUMPER COVERS /"’ T |
(WILDLIFE PROTECTION) & I FIBERGLASS CUTOUT ARRESTOR BRACKET
ha | MACLEAN POWER SYS. # AA15-STC-18B-S2
BUSHING COVERS 1 ==
(WILDLIFE PROTECTION) I
5 F= 5/8" MACH. BOLT, 4" CURVED
a WASHER & NUT.
TRANSFORMER = [ 1@ TRANSFORMER TO BE
N BOLTED DIRECTLY TO POLE.
|
= I
i |
| SERVICE
|
- Lo
[a\] | \
- |
| ~\ CABLE TV
[ TELEPHONE
/* h
#4 COPPER GROUND WIRE | \
! 1@ STRUCTURE PER
NOTE: | PLAN EO-8
1. POLE SETTING - ALL POLES SHALL | o

BE TAMPED TO THE APPROVAL OF
THE INSPECTOR FOR THE CITY OF
GRAND ISLAND UTILITIES DEPT.
GROUNDING CLAMP

5/8" X 10' GROUNDING ROD.

STAPLE SPACING: TYPICAL 12" SPACING- EXCEPT
TOP 8' AND BOTTOM 8' TO BE 6" SPACING.

NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE USE OF A
BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A STANDARD QUALITY,

REVISED: 12/27/2011

PERFORMANCE, AND CHARACTERISTIC DESIRED, AND IS NOT INTENDED TO

LIMIT OR RESTRICT COMPETITION.

RAND @@ IsLAND DRAWN BY : PSL |ON 1@ 40 & 45 POLES EP é’ﬁ'\(‘)
UTILITIES - DEPARTMENT CHECKEDBY: T.W.B. (1PTM / 1PS) )




REVISED: 4/14/23

CITY OF

G RAND

% IsLAND

UTILITIES DEPARTMENT

DATE :
DRAWN BY :
CHECKED BY :

4/14/23
K.J.M.
B.F.

1@ XFMR MOUNTING
ON 1@ 40' & 45' POLES
(1PTM / 1PS)

PLAN
EO-10
IMAGE




1/0 ACSR, 6/1 STATIC

STATIC
PREFORMED ARMOR ROD
#AR-0118 OR PREFORMED

=

WRAPLOCK #WTC-0112

/
i

2._0.,
—‘ ~—11 3/4"

i I f
f : \POLE TOP JOSLYN #J740(E)
|
f
.| #4 COPPER GROUNDWIRE :
iy L
Ly |
336.4 ACSR, 18/1 CONDUCTOR !
|
BAIL CLAMP #SC30 HOT LINE }
CLAMP #81530AGP ——__ \ |
i /10' -0" CROSS-ARM
|
|
- L
: |
® BOHTOVBQ;‘;ESTOR | JUMPER COVERS
|
#917.959.75.74 i (WILDLIFE PROTECTION)
| o POLYMER 15 K.V. FUSED CUT-OUT
JUMPER COVERS K{ N
. (WILDLIFE PROTECTION)~_ — MCLEAN FIBERGLASS STANDOFF
@ | BRACKET # G1MA0112AD
@ |
t—_
T BUSHING COVERS

(WILDLIFE PROTECTION)

:\1@ TRANSFORMER

TO BE BOLTED DIRECTLY TO POLE.

NOTE:

1. POLE SETTING - ALL POLES SHALL
BE TAMPED TO THE APPROVAL OF
THE INSPECTOR FOR THE CITY OF
GRAND ISLAND UTILITIES DEPT.

2. GROUNDING CLAMP

3. 5/8" X 10' GROUNDING ROD.

4. STAPLE SPACING: TYPICAL 12" SPACING- EXCEPT
TOP 8' AND BOTTOM 8' TO BE 6" SPACING.

REVISIONS: 12/27/2011

T SERVICE

\ 30 STRUCTURE

PER PLAN EO-1

——————————— T =——
I
1l

/|

L

NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE

USE OF A BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A
STANDARD QUALITY, PERFORMANCE, AND CHARACTERISTIC DESIRED,

AND IS NOT INTENDED TO LIMIT OR RESTRICT COMPETITION.

CITY OF

(G RAND —i 88151 AND
UTILITIES DEPARTMENT

DATE :
DRAWN BY :
CHECKED BY : T.W.B.

1/10/08
K.J.M.

19 XFMR MOUNTING
ON 3@ STRUCTURE
(1PTM/ TS)

PLAN
EO - 10A




REVISIONS: 4/14/2023

CITY OF S—
G RAND i Ist.AND

UTILITIES DEPARTMENT

DATE : 4/14/23
DRAWN BY : K.J.M.
CHECKED BY : B.F.

19 XFMR MOUNTING
ON 3@ STRUCTURE
(1PTM/ TS)

PLAN
EO - 10A
IMAGE




STATIC
PREFORMED ARMOR ROD
#AR-0118 OR PREFORMED

y:

1/0 ACSR, 6/1 STATIC\
=3

f

WRAPLOCK #WTC-0112

\ POLE TOP

JOSLYN #J740(E)

T

BAIL CLAMP #SC30 HOT LINE
CLAMP #S1530AGP

f

z

I

. T

o §

|

|

J ° %

~

10' -0" CROSS-ARM

JUMPER COVERS (WILDLIFE PROTECTION)
POLYMER 15 K.V. FUSED CUT-OUT

10 K.V. ARRESTER

OHIO BRASS #300009-3001
5/8" BOLT

\ MCLEAN FIBERGLASS STANDOFF
BRACKET # G1MA0112AD
5/8" BOLT

6" LOOP IN GROUNDWIRE

SEE STD PLAN EU-1 FOR —/
CONDUIT STAND-OFF
DETAILS

——— e — — — e —

s

POWER CABLE

L

NOTE:
1. GROUND ALL DEVICES THROUGH GROUNDING
BRACKET ONLY NOT TO FRAME

. GROUND CLAMP
. 1-10' GROUNDING ROD SECTIONAL
. #K9160GROUNDING ROD TREADED COUPLING CR58

. SEE STANDARD PLAN EO-08 GROUNDING LAYOUT

NOTE:

\ #4 COPPER

GROUNDWIRE

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE USE OF A
BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A STANDARD QUALITY,
PERFORMANCE, AND CHARACTERISTIC DESIRED, AND IS NOT INTENDED TO

REVISED: 12/27/2011

LIMIT OR RESTRICT COMPETITION.

G T DATE : 4/12/96 | 10 DISCONNECT
RAND (gplsians DRAWNBY:  P.SL. [RISER STRUCTURE
UTILITIES DEPARTMENT CHECKEDBY: T.W.B. (F.U.G)

PLAN
EO-11




REVISED: 4/14/2023

CITY OF
G RAND ? IstAND

UTILITIES DEPARTMENT

DATE : 4/14/23
DRAWN BY : K.J.M.
CHECKED BY: B.F.

10 DISCONNECT
RISER STRUCTURE
(F.U.G)

PLAN
EO-11
IMAGE




CONNECTING LINK AS REQUIRED

STATIC
POLE BAND W/ LAGS
ON ACHOR SIDE OF BAND

12' FIBERGLASS GUY
INSULATOR ON STATIC

CONDUCTOR

POLE BAND W/ LAGS
ON ACHOR SIDE OF BAND

PREFORMED WRAPLOCK FOR 3/8", GDE-1107

3/8" SM STEEL GUY WIRE CONNECTING LINK

AS REQUIRED

54" FIBERGLASS GUY INSULATOR ON PHASES

PREFORMED WRAPLOCK
FOR 7/16", GDE-1108

GUY MARKERS

PREFORMED WRAPLOCK

45° 7/16" EHS STEEL GUY WIRE
FOR 3/8", GDE-1107

PREFORMED WRAPLOCK GROUND LINE
FOR 7/16", GDE-1108 Y\

10" SCREW ANCHOR TRIPLE HELIX
JOSLYN J-23381ACA 5' EXTENSION
J23378 - 5' GUY ANCHOR J23371

NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE USE OF A
BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A STANDARD QUALITY,

PERFORMANCE, AND CHARACTERISTIC DESIRED, AND IS NOT INTENDED TO
REVISED: 12/27/2011 LIMIT OR RESTRICT COMPETITION.

CITY OF

AND B ISLAND DATE : 4/12/96 ANCHOR
=

DRAWNBY:  P.SL. ASSEMBLY E%Ag
UTILITIES DEPARTMENT CHECKED BY : T.W.B. (AA) -




REVISED: 4/14/2023

CITY OF —

G RrAND & IsL. AND
A i

UTILITIES DEPARTMENT

DATE : 4/14/23

DRAWN BY :
CHECKED BY :

K.J.M.
B.F.

ANCHOR
ASSEMBLY
(AA)

PLAN
EO-12
IMAGE




7

T/
- —o— f —
il
— g
— ] 3"
5.0"

11/16" Dia HOLE

= {f=—1/2"

2-5/16"

4-5/8" CROSSARM GAIN

2-5/16"

G:B———

|
7
|

I

!
Iil

[
(
2'-8-1/4"—=|

6'-0"

GROUND |
LINE

BRAND BUTT OR INSTALL METAL TAG
WITH PROPER LENGTH AND CLASS

ALL POLES TO BE DRILLED AS PER DETAILS.

POLES SHALL BE TREATED FULL LENGTH, AND SHALL BE
BORED, ROOFED, AND GAINED PRIOR TO TREATMENT.

POLES SHALL HAVE 15°, ONE WAY ROOF, SLOPED
DOWNWARD LEFT TO RIGHT AS SHOWN IN DETAIL.

BURN BRANDED FACE AND BUTT WITH STANDARD
MARKINGS AND THE INITIALS "G I". FACE MARK LOCATION
SHALL BE 6' ABOVE GROUND LINE AT STANDARD SETTING
DEPTH, AND IN ACCORDANCE WITH ANSI 05.1 (1972),
PARAGRAPH 6.5. THE INSPECTOR'S MARK SHALL BE
HAMMERED INTO THE TOP OF THE POLE AFTER INITIAL
INSPECTION. AFTER FINAL INSPECTION, THE INSPECTOR'S
HAMMER MARK SHALL BE PLACED IN BUTT OF POLE.

REVISED: 11/14/11

G DATE : 8/24/94 WOOD

RAND &= [SLAND
UTILITIES DEPARTMENT

DRAWN BY : K.W.S. DISTRIBUTION
CHECKED BY : T.W.B. |POLE-40"'& LARGER

PLAN
EO-13




i

B | —

6'-0"

GROUND
LINE

POLES SHALL BE TREATED FULL LENGTH, AND
SHALL BE ROOFED PRIOR TO TREATMENT.

POLES SHALL HAVE 15°, ONE WAY ROOF,
SLOPED DOWNWARD LEFT TO RIGHT.

BURN BRANDED FACE AND BUTT WITH
STANDARD MARKINGS AND THE INITIALS "G I".
FACE MARK LOCATION SHALL BE 6' ABOVE
GROUND LINE AT STANDARD SETTING DEPTH,
AND IN ACCORDANCE WITH ANSI 05.1 (1972),
PARAGRAPH 6.5. THE INSPECTOR'S MARK
SHALL BE HAMMERED INTO THE TOP OF THE
POLE AFTER INITIAL INSPECTION. AFTER FINAL
INSPECTION, THE INSPECTOR'S HAMMER MARK
SHALL BE PLACED IN BUTT OF POLE.

BRAND BUTT OR INSTALL METAL TAG

WITH PROPER LENGTH AND CLASS

REVISED: 9/1/2011

CITY OF S—

RAND &= [SLAND
g

UTILITIES DEPARTMENT

DATE: 8/20/91 WOOD
DRAWN BY: K.W.S.
CHECKED BY: T.W.B.

SERVICE & GUY
POLE- 30' & 35'

PLAN
EO-14




50"

—————1 DOUBLE DEAD END 10' CROSSARM

pd
5 S
T
MooH °
. = ] CURRENT 10' CROSSARM
BOX 2
4HoLes—] ¢ ° =
7 3
MM °
| = ] POTENTIAL 10' CROSSARM
BOX /E
5 HOLES |
1
1
-
GROUND

LINE\

NOTES:

1.11/16" DIA. HOLES

2. LET PLATES STICK OUT SIDE

3. WHITE DOT TO LINE - CUTOUT

TOP, BOTTOM TO P.T.'S

CITY OF S—

RAND &= [SLAND
g

UTILITIES DEPARTMENT

DATE:

1/26/98 HOLE PATTERN

DRAWN BY: TDZ POLE WITH D.D.E.,
CHECKED BY: TWB C.T.'S,AND P.T.'S

PLAN
EO-15




CITY OF —_—
G RAND ? IstAND

UTILITIES DEPARTMENT

DATE: 4/19/23
DRAWN BY: K.J.M.
CHECKED BY: B.F.

HOLE PATTERN
POLE WITH D.D.E.,
C.T.'S,AND P.T.'S

PLAN
EO-15
IMAGE




T
| 5
! n
@ 10' CROSSARM
o
8' CROSSARM
TE
| SD ;
g
|
TB TOP BOLT OF CAPACITORS
|
|
|
|
|
o
|
|
GROUND |
LINE .
\ !
|
! NOTES:
! 1.11/16" DIA. HOLES
|
|
|
REVISED 1/12/2012 i
BAND B [SLAND DATE: 1/27/98 HOLE PATTERN | p| AN
UTILITIES  DEPARTMENT DRAWN BY: TDZ FOR POLE WITH EO-16

CHECKED BY: TWB CAPACITORS




CITY OF —_—
G RAND ? IstAND

UTILITIES DEPARTMENT

DATE: 1/27/98
DRAWN BY: TDZ
CHECKED BY: TWB

HOLE PATTERN
FOR POLE WITH
CAPACITORS

PLAN
EO-16




TOP CAP (@
J_ THROUGH FACE
AND SIDE
&
1/2" NUT WELDED /_ i A ]
TO ACCOMMODATE :
GROUNDING LUG 5
(BURNDY GBL-30 5 '
OR EQC-632-C-1) 3
4-WAY STEP
LOCATION \:I: N
3.
N _
4.
] 5.
N _
- :
7.
o
©
POLE I.D. .
\EZZ
1/2" NUT WELDED
TO ACCOMMODATE |
GROUNDING LUG 5
(BURNDY GBL-30 _L ©
OR EQC-632-C-1)
GROUND LINE =
!
©
n
CORROCOTE/
NOTE:

REVISED 12/16/08 KM

REVISED 7/25/2005 PFG
REVISED 5/4/2004 PFG  —— BUTTCAP

4-WAY BOLT HOLE

NOTES

ALL HOLES TO BE 11/16" DIA UNLESS OTHERWISE NOTED.

1-1/8" HOLES FOR REMOVABLE STEPS SHALL BE
PROVIDED FOR CLIMBING ONE LONGITUDINAL POLE
FACE. STEPS SHALL EXTEND FROM 1'-6" ABOVE GROUND
LINE TO APPROX. 4'0" FROM TOP OF POLE. VERTICAL
SPACING SHALL BE 1'-6" AND HORIZONTAL OFFSET SHALL
BE COMFORTABLE FOR CLIMBING. HOLES TO
ACCOMODATE SPEED SYSTEMS STEPS- CATALOG
#SPS-1.

ALL DRILLING IS TO BE CAPPED AND PLUGGED W/ GRAY
PLUGS.

PROVIDE SIX GREENLEE UNITBITS- CATALOG #36414.

TOP CAP AND BUTT CAP SHALL BE INSTALLED BEFORE
DELIVERY.

POLE I.D. TAG SHALL BE STAMPED "GIUD" AND INCLUDE
POLE LENGTH, CLASS, MANUFACTURER, AND DATE. TAG
SHALL BE INSTALLED BEFORE DELIVERY.

POLES SHALL BE SINGLE PIECE, TAPERED, TUBULAR
STEEL MEETING A.S.T.M. A570 GR65 SPECIFICATIONS,
FULL COAT HOT-DIP GALVANIZED AFTER FABRICATION,
AND SHALL BE DESIGNED TO MEET A LOAD CAPACITY
EQUIVALENT TO CLASS 2 WOOD POLES BASED ON
N.E.S.C. GRADE "B" REQUIREMENTS.

LIST OF USERS:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE USE OF A
BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A STANDARD QUALITY,
PERFORMANCE, AND CHARACTERISTIC DESIRED, AND IS NOT INTENDED TO

EEx:ggg g;g;ﬁgg? LIMIT OR RESTRICT COMPETITION.
e DATE: 6/30/97 | DRILLING FOR
RAND 9 ISLAND DRAWN BY: P.S.L. oNEPIECE | PHAN

UTILITIES DEPARTMENT

CHECKED BY: T.W.B. |35 sTEEL pOLE |EC-17




1/2" WELDED ,o——r=
GROUNDING LUG NUT—/_/ H f

o °

<
1/2" WELDED

s ffﬁi'
GROUNDING

LUG NUT R

12"

T

|

]
54"

&
Y
=

q

172" WELDED/

GROUNDING
LUG NUT

4-WAY STEP —/

LOCATION

POLE I.D.
N\

N\,
|

18'-0"

1/2" WELDED
GROUNDING
LUG NUT

6-0"

GROUND LINE € |

f

AN PPy -

6'0"

CORROCOTE/

L J ButTCAP
REVISED 12/29/2015

>~ 4WAY BOLT HOLE

THROUGH FACE
AND SIDE

1.

2.

NOTES

ALL HOLES TO BE 11/16" DIA UNLESS OTHERWISE NOTED.

STEP SHALL BE PROVIDED FOR CLIMBING ONE
LONGITUDINAL POLE FACE. STEPS SHALL EXTEND FROM
1'-6" ABOVE GROUND LINE TO APPROX. 4'0" FROM TOP OF
POLE. VERTICAL SPACING SHALL BE 1'-6" AND
HORIZONTAL OFFSET SHALL BE COMFORTABLE FOR
CLIMBING. HOLES TO ACCOMODATE SPEED SYSTEMS
STEPS- CATALOG #SPS-1.

TOP CAP AND BUTT CAP SHALL BE INSTALLED BEFORE
DELIVERY.

POLE I.D. TAG SHALL BE STAMPED "GIUD" AND INCLUDE
POLE LENGTH, CLASS, MANUFACTURER, AND DATE. TAG
SHALL BE INSTALLED BEFORE DELIVERY.

POLES SHALL BE SINGLE PIECE, TAPERED, TUBULAR
STEEL MEETING A.S.T.M. A570 GR65 SPECIFICATIONS,
FULL COAT HOT-DIP GALVANIZED AFTER FABRICATION,
AND SHALL BE DESIGNED TO MEET A LOAD CAPACITY
EQUIVALENT TO CLASS 2 WOOD POLES BASED ON
N.E.S.C. GRADE "B" REQUIREMENTS.

ALL GROUNDING LUGS TO BE 1/2 " WELDED NUT (BURNDY
GBL-30 OR EQC-632-C-1).

LIST OF USERS:

NOTE:

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE USE OF A

BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A STANDARD QUALITY,
PERFORMANCE, AND CHARACTERISTIC DESIRED, AND IS NOT INTENDED TO
LIMIT OR RESTRICT COMPETITION.

CITY OF
——=]

G RrRAND & IsL.AND
g

UTILITIES DEPARTMENT

DATE : 5/4/2004 DRILLING FOR
DRAWN BY : P.F.G. ONE PIECE
CHECKED BY : T.W.B. 40' STEEL POLE

PLAN
EO-18




THROUGH FACE

NOTES

1.

2.

ALL HOLES TO BE 11/16" DIA UNLESS OTHERWISE NOTED.

STEP HOLES SHALL BE PROVIDED FOR CLIMBING ONE
LONGITUDINAL POLE FACE. STEPS SHALL EXTEND FROM
1'-6" ABOVE GROUND LINE TO APPROX. 4'0" FROM TOP OF
POLE. VERTICAL SPACING SHALL BE 1'-6" AND HORIZONTAL
OFFSET SHALL BE COMFORTABLE FOR CLIMBING. HOLES

TO ACCOMODATE SPEED SYSTEMS STEPS- CATALOG

#SPS-1.

DELIVERY.

. TOP CAP AND BUTT CAP SHALL BE INSTALLED BEFORE

. POLE I.D. TAG SHALL BE STAMPED "GIUD" AND INCLUDE

POLE LENGTH, CLASS, MANUFACTURER, AND DATE. TAG
SHALL BE INSTALLED BEFORE DELIVERY.

- POLES SHALL BE SINGLE PIECE, TAPERED, TUBULAR STEEL

MEETING A.S.T.M. A570 GR65 SPECIFICATIONS, FULL COAT
HOT-DIP GALVANIZED AFTER FABRICATION, AND SHALL BE
DESIGNED TO MEET A LOAD CAPACITY EQUIVALENT TO

CLASS 2 WOOD POLES BASED ON N.E.S.C. GRADE "B"

REQUIREMENTS.

LIST OF USERS:

- ALL GROUNDING LUGS TO BE 1/2 "WELDED NUT (BURNDY
GBL-30 OR EQC-632-C-1).

ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE USE OF A

TOP CAP ) -
[sp]
x
BEYE =~ 4WAY BOLT HOLE
lo— =
1/2" WELDED 1 @ AND SIDE
GROUNDING 2T s
LUGNUT | T
)
n
4-WAY STEP
LOCATION o
S
e
= o [ -
o ==
o Mg
o
xwz" WELDED
GROUNDING
LUG NUT
TTAC
é‘ ° Tvu—) El:
- ,O—-J_ i
1/2" WELDED %
GROUNDING Lo !
LUG NUT =) ™~
_/:I:—— 6
©
4-WAY STEP
LOCATION F=23
POLE I.D. 7
iy
o
1/2" NUT WELDED T
TO ACCOMMODATE &
GROUNDING LUG ©
(BURNDY GBL-30
OR EQC-632-C-1) _L
GROUND LINE € =
©
©
CORROCOTE—" |
NOTE:
L J ButTCAP

REVISED: 12/29/2015

BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A STANDARD QUALITY,

PERFORMANCE, AND CHARACTERISTIC DESIRED, AND IS NOT INTENDED TO
LIMIT OR RESTRICT COMPETITION.

CITY OF

RAND &= [SLAND
g

UTILITIES DEPARTMENT

DATE : 2/01/2000
DRAWN BY : T.D.Z.
CHECKED BY : T.W.B.

DRILLING FOR
ONE PIECE
45' STEEL POLE

PLAN
EO-19




4-0"

18"

= o
£ -
E —eZ
= =
< ©
o —
& [— e
'— s
[7p] e}
2 -
< l— o —
O gy —
e o
[

F= e =7

“

NOTES

1. REMOVEABLE STEPS WITH CLIP FASTENERS SHALL BE

PROVIDED FOR CLIMING ONE LONGITUDINAL POLE FACE.

2. STEPS SHALL EXTEND FROM 1'-6" ABOVE GROUND LINE

TO APROX. 4'-0" FROM TOP OF POLE.

3. HOLES SHALL BE DRILLED TO ACCOMODATE SPEED

SYSTEM STEPS, CATALOG# SPS-1.

o
o
=z -t
z =
L %
E e
< 4
o J=
o %
L e
(2] -+ =
2 T @
S 2 :
o
> I=
= .
®
2
©
GROUND LINE
corrocoTe"” |
NOTE:
ALL MATERIALS SHALL BE AS LISTED, OR AN APPROVED EQUAL. THE USE OF A
BRAND NAME IS FOR THE PURPOSE OF DESCRIBING A STANDARD QUALITY,
PERFORMANCE, AND CHARACTERISTIC DESIRED, AND IS NOT INTENDED TO
LIMIT OR RESTRICT COMPETITION.
T DATE: 12/19/08 | STEP INSERT
RAND &= [SLAND DRAWN BY: KJM LOCATIONS PLAN
UTILITIES DEPARTMENT i Ao 35', 40", & 45' EO-19-S
CHECKED BY: T.W.B.

STEEL POLE




|
i
! ©
£
[t} | . |
‘ 8
. |
|
N
|
|
oC o % | %
= 'C_) LZD [ ) -
=82 X | /
28 '
83 hd
|
|
|
I3
|
T
REVISED: 5/27/2003
P — DATE: 10/7/98
GRranD@@IsLAND DRAWN BY: TDZ 34.5KV /13.8KvV | PLAN

UTILITIES DEPARTMENT CHECKED BY: TWB POLE DETAIL EO-20




SCHEDULE OF WIRING MATERIALS

ALL CONDUCTORS SHALL BE SINGLE CONDUCTOR, STRANDED COPPER
U.L. LISTED, 600V. WITH SIZE OF CONDUCTOR AND TYPE AND COLOR OF
INSULATION AS LISTED BELOW.

ONE PHASE CONDUCTOR MUST, AT THE TIME OF INSTALLATION, BE
PERMANENTLY INDENTIFIED AS THE LINE 2 (RED) CONDUCTOR AT
EACH END AND AT EVERY POINT WHERE THE CONDUCTOR IS
ACCESSIBLE. IDENTIFICATION WILL BE ACCOMPLISHED BY:

(A) COLORING THE EXPOSED INSULATION RED

(B) MARKING THE EXPOSED INSULATION WITH RED TAPE.

SERVICE ENTRANCE: TYPE USE OR XHHW, NO. 6 AWG

EQUIPMENT GROUND: BARE OR INSULATED, NO. 6 AWG

POLE: NO. 12 AWG, THW OR THWN
BRANCH CIRCUIT FEEDERS, USE OR XHHW (IN CONDUIT)
INCLUDING NEUTRALS: NO. 6 AWG
COLOR CODES: "INSULATED EQUIPMENT GROUND" - GREEN
"LINE 1" - BLACK
"LINE 2" - RED

FUSED DISCONNECT ENCLOSURE

FUSED DICONNECT SHALL HAVE A CAST ALUMINUM WEATHERPROOF
CASE. DOOR SHALL BE HINGED, GASKETED AND SHALL HAVE
PROVISION FOR A PADLOCK. PROVIDE WEATHERPROOF HUBS FOR
ALL CONDUIT ENTRIES AND CABLE-GRIP BUSHINGS OF CORRECT
SIZE FOR ALL CABLE ENTRIES.

PVC MOLDING \

SUPPORT STRAPS
(SPACE EVERY 3')\

GROUNDING
CONDUCTOR
GENERAL NOTES T
UNLESS INDICATED OTHERWISE, ALL g -
COMPONENTS OF THE LIGHTING / POWER ~

INSTALLATION ARE TO BE FURNISHED AND
INSTALLED BY THE CONTRACTOR. 5/8" x 10' COPPER
CONTRACT CITY UTILITY DEPARTMENT 72 CLAD GROUND ROD
HOURS PRIOR TO REQUIRING

SERVICE CONNECTIONS.

ALL BOXES AND CABINETS WITH ACCESS TO
ELECTRICAL COMPONENTS MUST

BE PADLOCKED IMMEDIATELY AFTER
INSTALLATION. CONTRACTOR SHALL
PROVIDE PADLOCK DURING CONSTRUCTION
PERIOD. AFTER FINAL ACCEPTANCE

OF PROJECT, MAINTAINING UTILITY OR
AGENCY WILL PROVIDE PADLOCK.

/UTILITY POLE

-
SERVICE ENTRANCE
WEATHERHEAD
‘ﬁ SERVICE DROP AND
CONNECTIONS BY GRAND
| ISLAND CITY UTILITY DEPT.

1-1/2" PVC CONDUIT
/(SCHEDULE 80)

FUSED DISCONNECT

1-1/2" PVC CONDUIT
(SCHEDULE 80)

SUPPORT STRAPS
(SPACED EVERY 3')

EXPANSION
COUPLING

1-1/2" PVC CONDUIT
(SCHEDULE 80)

/ GRADE LINE

v -

REVISED: 5/27/2003

R a— DATE : 2/16/98
DRAWN BY : T.D.Z.
CHECKED BY : T.W.B.

RAND &= [SLAND
UTILITIES DEPARTMENT

LIGHTING CONTROL
CENTER
TYPE "D"

PLAN
EO-21




SCHEDULE OF WIRING MATERIALS

ALL CONDUCTORS SHALL BE SINGLE CONDUCTOR, STRANDED COPPER
U.L. LISTED, 600V. WITH SIZE OF CONDUCTOR AND TYPE AND COLOR OF
INSULATION AS LISTED BELOW.

ONE PHASE CONDUCTOR MUST, AT THE TIME OF INSTALLATION, BE
PERMANENTLY INDENTIFIED AS THE LINE 2 (RED) CONDUCTOR AT
EACH END AND AT EVERY POINT WHERE THE CONDUCTOR IS
ACCESSIBLE. IDENTIFICATION WILL BE ACCOMPLISHED BY:

(A) COLORING THE EXPOSED INSULATION RED

(B) MARKING THE EXPOSED INSULATION WITH RED TAPE.

SERVICE ENTRANCE: TYPE USE OR XHHW, NO. 6 AWG

EQUIPMENT GROUND: BARE OR INSULATED, NO. 6 AWG

POLE: NO. 12 AWG, THW OR THWN

BRANCH CIRCUIT FEEDERS, USE OR XHHW (IN CONDUIT)
INCLUDING NEUTRALS: NO. 6 AWG

COLOR CODES: "INSULATED EQUIPMENT GROUND" - GREEN
"LINE 1" - BLACK

"LINE 2" - RED

FUSED DISCONNECT ENCLOSURE

FUSED DICONNECT SHALL HAVE A CAST ALUMINUM WEATHERPROOF
CASE. DOOR SHALL BE HINGED, GASKETED AND SHALL HAVE
PROVISION FOR A PADLOCK. PROVIDE WEATHERPROOF HUBS FOR
ALL CONDUIT ENTRIES AND CABLE-GRIP BUSHINGS OF CORRECT
SIZE FOR ALL CABLE ENTRIES.

PVC MOLDING \

SUPPORT STRAPS
(SPACE EVERY 3

GROUNDING
CONDUCTOR

GENERAL NOTES

UNLESS INDICATED OTHERWISE, ALL
COMPONENTS OF THE LIGHTING / POWER
INSTALLATION ARE TO BE FURNISHED AND
INSTALLED BY THE CONTRACTOR.

12" MIN.

5/8" x 10' COPPER

CONTRACT CITY UTILITY DEPARTMENT 72 CLAD GROUND ROD

HOURS PRIOR TO REQUIRING
SERVICE CONNECTIONS.

ALL BOXES AND CABINETS WITH ACCESS TO
ELECTRICAL COMPONENTS MUST

BE PADLOCKED IMMEDIATELY AFTER
INSTALLATION. CONTRACTOR SHALL
PROVIDE PADLOCK DURING CONSTRUCTION
PERIOD. AFTER FINAL ACCEPTANCE

OF PROJECT, MAINTAINING UTILITY OR
AGENCY WILL PROVIDE PADLOCK.

\

N

/—UTILITY POLE

SERVICE ENTRANCE
WEATHERHEAD

SERVICE DROP AND
CONNECTIONS BY GRAND
ISLAND CITY UTILITY DEPT.

1-1/2" PVC CONDUIT
(SCHEDULE 80)

WEATHERPROOF HUB
METER SOCKET

WEATHERPROOF HUB
FUSED DISCONNECT

1-1/2" PVC CONDUIT
(SCHEDULE 80)

SUPPORT STRAPS
(SPACED EVERY 3')

EXPANSION
COUPLING

1-1/2" PVC CONDUIT
(SCHEDULE 80)

GRADE LINE

v -

REVISED: 5/27/2003

= DATE : 10/01/1998
i‘zﬁsﬁﬁg‘;ﬁ DRAWNBY:  TD.Z
CHECKED BY : T.W.B.

LIGHTING / POWER
CONTROL CENTER

PLAN

TYPE "R" EO-22




—>| 6" or 9" |=—

. 12" ‘

STANDOFF BRACKET WITH T-SLOT
TYPICAL CONDUIT CONFIGURATIONS

POWER POLE

TRANSFORMER

PER N.E.C. TABLE 352.30 SUPPORT OF k===
RIDGED NONMETALLIC CONDUIT (RNC) . SECONDARY
[{e)
CONDUIT SIZE MAXIMUM SPACING ) / Seeo
BETWEEN SUPPORTS
172" - 1" 3 FT.
1 ’ 5/8" X DIA. OF POLE
1-1/4" -2" 5FT. MACHINE BOLT
21/2" - 3" 6FT. / miu\;%jHER
S5 T ATTACHMENT FOR—" |
6" 8 FT. COMMUNICATION I
SERVICE TO BE 40" MIN. o
=
NOTES: FROM ANY CONDUCTOR Q 8
ANY CONDUIT INSTALLED ON A UTILITY POLE SHALL BE &z
INSTALLED WITH STANDOFF BRACKETS UNLESS , D
OTHERWISE PRIOR APPROVAL IS RECEIVED FROM THE ONE - 10" SECTION _/ xu
GRAND ISLAND UTILITIES DEPARTMENT. THE STANDOFF SCH 80 P.V.C. CONDUIT s
BRACKETS SHALL BE FURNISHED AND INSTALLED BY THE
CITY OF GRAND ISLAND UTILITIES DEPARTMENT. =
STAND-OFF BRACKET — |
BRACKETS SHALL HAVE A STANDOFF DISTANCE OF SIX (6) ) g
INCHES. THE CONDUIT ATTACHMENT BRACKET SHALL BE A 1/2" X 4" LAG SCREW 59
MINIMUM OF TWELVE (12) INCHES LONG. EACH BRACKET (TYPICAL) <4
SHALL BE BOLTED THROUGH THE POLE WITH A 5/8" &2
MACHINE BOLT AND ONE 1/2"X4" LAG SCREW. G.R.C./P.V.C. Xuw
ADAPTER — s
THE STANDOFF BRACKETS SHALL BE POSITIONED ON THE
POLE SO ADJACENT PROPERTIES CAN HAVE EASY GROUNDING CLAMP 44 COPPER
ACCESS. BRACKET i > .
ST |1 GROUNDWIRE
WEATHER HEAD HEIGHT SHALL BE: 1'-6" BELOW THE ONE - 10' SECTION 1
BOTTOM OF THE TRANSFORMER; OR TO THE TOP WIRE OF SCH 40 G.R.C. CONDUIT
THE SECONDARY RACK OR "J" HOOK. S \ .
o Z
BRACKET SPACING REQIREMENTS: SECONDARY PEDESTAL ® =
- FIRST BRACKET - WITHIN ONE (1) FOOT OF SEE STD. PLAN EU-15
FINSIHED GRADE.
- SECOND BRACKET - A MIN OF EIGHT (8) FINISHED
FEET ABOVE FIRST BRACKET. GRADE
- SUBSEQUENT BRACKETS SHALL BE
INSTALLED PER N.E.C., ARTICLES 344.30 3
AND 352.30. -
THE G.I.U.D. SHALL INSTALL ALL STANDOFF BRACKETS ON |
ALL POLES. THE ELECTRICAL CONTRACTOR SHALL
CONTACT THE ELECTRIC LINE DIVISION (308-385-5471) A A
MIN. OF TWENTY-FOUR (24) HOURS IN ADVANCE TO MAKE =~
ARRANGEMENTS FOR ANY SUCH WORK.
SECONDARY PEDESTAL SHALL BE SUPPLIED BY G.LU.D.
IF A STAND ALONE METER PEDESTAL IS REQUIRED, THE
ELECTICAL CONTRACTOR SHALL SUPPLY THE METER SECONDARY
PEDESTAL, CONDUIT, AND WIRE TO THE TOP OF POLE. CONDUIT REVISED: 2/28/2012
G RAND & [SLAND DATE: 12/2/2004 SECONDARY PLAN
= DRAWN BY: T.D.Z. STAND-OFF EO-23




CITY OF P—

G RrRAND & IsT. AND
g

UTILITIES DEPARTMENT

DATE: 4/19/23

DRAWN BY:
CHECKED BY:

K.J.M.
B.F.

SECONDARY
STAND-OFF
BRACKET

PLAN
EO-23
IMAGE




oY
/—\
POWER POLE ;
‘ TRANSFORMER
| 12" |
STANDOFF BRACKET WITH T-SLOT f
TYPICAL CONDUIT CONFIGURATIONS S
PER N.E.C. TABLE 352.30 SUPPORT OF ==}
RIDGED NONMETALLIC CONDUIT (RNC) " SECONDARY
< RACK
MAXIMUM SPACING ® /
CONDUIT SIZE BETWEEN SUPPORTS
V21 SFT. Y 5/8" X DIA. OF POLE
o SFT — MACHINE BOLT
W/ 2" WASHER
2-1/2" - 3" 6 FT. (TYPICAL)
3-1/2" - 5" 7FT. ATTACHMENT FOR—§
. COMMUNICATION I
6 8FT. SERVICE TO BE 40" MIN. ©
Zs
NOTES: FROM ANY CONDUCTOR 59
ANY CONDUIT INSTALLED ON A UTILITY POLE SHALL BE ' o=z
INSTALLED WITH STANDOFF BRACKETS UNLESS SCH SOON'E\_/ 1:? gg’c\igﬁ_’}l : E
OTHERWISE PRIOR APPROVAL IS RECEIVED FROM THE B <o
GRAND ISLAND UTILITIES DEPARTMENT. THE STANDOFF =
BRACKETS SHALL BE FURNISHED AND INSTALLED BY THE STAND-OFF BRACKET | $2
CITY OF GRAND ISLAND UTILITIES DEPARTMENT. 2
BRACKETS SHALL HAVE A STANDOFF DISTANCE OF SIX (6) 12X 4 LA(GnglFéiY_V) /’ g .
INCHES. THE CONDUIT ATTACHMENT BRACKET SHALL BE A ) 8
MINIMUM OF TWELVE (12) INCHES LONG. EACH BRACKET G.RC./PV.C. <z
SHALL BE BOLTED THROUGH THE POLE WITH A 5/8" ADAPTER L U’ o
MACHINE BOLT AND ONE 1/2"X4" LAG SCREW. é E
GROUNDING CLAMP =
THE STANDOFF BRACKETS SHALL BE POSITIONED ON THE BRACKET
POLE SO ADJACENT PROPERTIES CAN HAVE EASY \ 4 COPPER
AOCESS: ONE - 10' SECTION ™ //_ gROUNDWIRE
WEATHER HEAD HEIGHT SHALL BE: 1'-6" BELOW THE SCH 40 G.R.C. CONDUIT /
BOTTOM OF THE TRANSFORMER; OR TO THE TOP WIRE OF
THE SECONDARY RACK OR "J" HOOK. O >
BRACKET SPACING REQIREMENTS: METER © S
- FIRST BRACKET - WITHIN ONE (1) FOOT OF PEDESTAL
FINSIHED GRADE. SEE STD. FINISHED
- SECOND BRACKET - A MIN OF EIGHT (8) PLAN EX-9A GRADE
FEET ABOVE FIRST BRACKET.
- SUBSEQUENT BRACKETS SHALL BE
INSTALLED PER N.E.C., ARTICLES 344.30 «©
AND 352.30. -
THE G.I.U.D. SHALL INSTALL ALL STANDOFF BRACKETS ON
ALL POLES. THE ELECTRICAL CONTRACTOR SHALL
CONTACT THE ELECTRIC LINE DIVISION (308-385-5471) A |
MIN. OF TWENTY-FOUR (24) HOURS IN ADVANCE TO MAKE ﬁ
ARRANGEMENTS FOR ANY SUCH WORK.
SECONDARY PEDESTAL SHALL BE SUPPLIED BY G.I.U.D.
IF A STAND ALONE METER PEDESTAL IS REQUIRED, THE
ELECTICAL CONTRACTOR SHALL SUPPLY THE METER SECONDARY
PEDESTAL, CONDUIT, AND WIRE TO THE TOP OF POLE. CONDUIT REVISED: 3/11/2013
A DATE: 3/11/2013 SECONDARY
RAND &= Ist. AND - STAND-OFF PLAN
= DRAWN BY:; K.J.M. BRACKET WITH
UTILITIES DEPARTMENT CHECKED BY: TW.B.| METER PEDESTAL EO-24




	ALL OVERHEAD CONSTRUCTION STANDARDS
	EO-01_3ph_Tangent_Structure
	EO-01A_3ph_Tangent_Structure_T2_Conductor
	EO-01B_3ph_Tangent_Structure_T2_Conductor_Fiberglass_Crossarm
	EO-02_3ph_DeadEnd
	EO-02A_3ph_Junction Structure
	EO-02B_3ph_DeadEnd_T2_Conductor
	EO-03_3ph_Double_Circuit
	EO-03A_3ph_Double_Circuit_T2_Conductor
	EO-04_3ph_Transformer_Mounting
	EO-05_3ph_Switch
	EO-06_3ph_PTS-UG_500MCM
	EO-06A_3ph_PTS-UG_750MCM
	EO-07_3ph_PTS-UG_0000-0
	EO-07_3ph_UG_Disconnect
	EO-08_1ph_ Tangent_Structure
	EO-09_1ph_DeadEnd
	EO-10_1ph_Transformer_Mounting_1PTM1PS
	EO-10A_1ph_Transformer_Mounting_1PTMTS
	EO-11_1ph_UG_Riser
	EO-12_Anchor
	EO-13_Distribution_Pole_Wood
	EO-14_Service_Pole_wood
	EO-15_Hole_Pattern_Wood_Pole_Type1
	EO-16_Hole_Pattern_Wood_Pole_Type2
	EO-17_Hole_Pattern_35-Steel_Pole
	EO-18_Hole_Pattern_40-Steel_Pole
	EO-19_Hole_Pattern_45-Steel_Pole
	EO-19-S_Step_Insert_Locations_for_Steel_Poles
	EO-20_34.5kv_Pole_Details
	EO-21_Lighting_Center_Type_D
	EO-22_Lighting_Center_Type_R
	EO-23_Secondary_Standoff_Bracket


